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MUSCOVITE
X axis : Strain (%) ; Y axis : Stress (GPa) ; Cj = Slope
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Stress-strain fitting of Muscovite
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0.25 INTERMEDIATE

X
X axis : Strain (%) ; Y axis : Stress (GPa) ; C; = Slope
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Stress-strain fitting of Na*
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X =0.50 INTERMEDIATE

Xaxis : Strain (%) ; Y axis : Stress (GPa) ; C; = Slope
Cy = 180.1£0.4 GPa Cp,= 618412GPa Ci3= 331£1.7GPa Ciy= 00200GPa Cy5=-133£0.2GPa Cis= -00£0.0GPa
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Stress-strain fitting of Na*=0.50 derivative of the Ms-Pg series
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0.75 INTERMEDIATE
Xaxis : Strain (%) ; Y axis : Stress (GPa) ; Cj = Slope
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PARAGONITE
Xaxis : Strain (%) ; Y axis : Stress (GPa) ; Cj = Slope
Cyy = 177.1£0.3GPa Ci,= 540%1.0GPa Ciz= 256£1.3GPa Ciy= 0000GPa Ci5=-181£04GPa Ci3= 00£0.0GPa
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Stress-strain fitting of Paragonite
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2ac1 CONFIGURATION

Xaxis : Strain (%) ; Y axis : Stress (GPa) ; C; = Slope
Cyy = 179.7+0.6 GPa Ci;= 61241.4GPa Ci3= 332+18GPa Cyy= -0.1£0.1GPa Cig=-1360.1GPa Ci5= -0.0£0.0GPa
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2bc1 CONFIGURATION
X axis : Strain (%) ; Y axis : Stress (GPa) ; C; = Slope

Cyy = 180.0£0.6 GPa Cj,= 612£15GPa Cj;= 324%1.7GPa Ci,= -0.1£00GPa Cis=-141£0.1GPa Ci;= 00+00GPa
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Stress-strain fitting of the 2bc1 interlayer cation configuration of Na*=0.50 derivative of the Ms-Pg series
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INTERSTRATIFIED CONFIGURATION

Xaxis : Strain (%) ; Y axis : Stress (GPa) ; Cj = Slope
Cyy = 175.0£0.7GPa Cy,= 563+12GPa Ci3= 341:16GPa Ci4= 00x00GPa Ci5=-175+05GPa Ci5= -0.0+£0.0GPa
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Stress-strain fitting of the the interstratified configuration of Na*=0.50 derivative of the Ms-Pg series




